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1. HHXIESKA 3 & W6,000,000
s34 S2324¢ HXEZR3 HXEZR3 6,000,000 6,000,000 0((50,000%12J1 &) = 3% = 1,800,000&
J|E 2 4,200,0002
Mol HMol=2 HomMAZ(SAZ) |HoMLS(Z2RB) 2,000,000 2,000,000 0 Eti.aoi; i:wl gaa dEAe =a
o= o= MAzo|la2 HEAZ0IFS(HRY) 9,218,568 9,218,568 0
1. 3EC0IF2(BE2)11,677,0532 + (Xt
224H)9,218,5682 = 120,895,621
oga oaa MAzola=2 HEAZ0IFS(EX3) 11,677,053 11,677,053 02. 2021 EX2 Brod 11,672,0352 + 0
X 5,018 = w11 677,053
3. 2021 X2 E 0IE 2 W9,218,568
- - o o= REENEEIPEE
olg= olg= HAZ0|FS(E23) 23) 9,210,153 9,210, 153 0
1. 2021 MEZ0IRZ2(NEEL
_ HEC0IH (WX 2)7,810,0642 + (HQI&M3)1,400,0898 =
og= =R HAZ0|F2(E23) =23) 11,566,991 11,566,991 09,210, 153
e 2. 20218 MECOIE3(HXNES2Z)
11,566,991
A A A A Ol Xt==&
oS Eel] oS el J|EFOI 20| K22 J|EHOI 20| K22 25,000 25,000 0ot ~ol
BIH, SHASMITHl (4Z+100,000)*23]
0l el JIEE %2 JIEHE 22 800,000 900,000 100,000 [=800,000
5232 EX| U2L= 28 (A2
g 351,432,765 351,732,765 300,000




